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LD 0 0001 0000
ADD 1 0110 0001
SUB 2 0111 0010
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LD O 0001 0000
SL 0100 0000
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LD 1 0001 0001
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ADD 2 0110 0010
ST 2 1000 0010
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module OO (
input 00O 1,
input 00O 2,
output UU 1,
output 00O 2 );

O000000O00oCcO0o0uoouoooooooooooooooooog ()
OO00000O0O0000O0oDOoo00o00ooooDD &,bO0D00OD0OO0O0OsOO00OO
OO0 1bit000000000o0o0ooooooooooooooooooo

/* 1 bit adder */

module adder (
input a, b, output s );

assign s =a+b ; // add ab

endmodule
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gboogbobooobooooboooobooboooboboobobonooo
O000OVerilogOO VEADLOODODOODODOOODOOOD’+ 00000000000
000000000000 00000000000000000O00000000O0
CAD(Computer Aided Design) 0000000000000 00O0O0OOODOOOO
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/* test bench */
‘timescale 1ns/1ps

module test;
parameter STEP = 10;
reg ina, inb;
wire outs;
adder adder_1i(.a(ina), .b(inb), .s(outs));
initial begin
$dumpfile("adder.vcd");
$dumpvars(0,adder_1) ;
ina <= 1’b0;
inb <= 1°b0;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1°b0;
inb <= 1°bi;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1’bi;
inb <= 1°b0;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1’bl;
inb <= 1’bi;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1°b0;
inb <= 1°b0;
$finish;
end
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endmodule

gboboboboooboooboboooooboooboooobooooboooooboooog
goooooobooo

‘timescale 1ns/1ps

0000000 1ns(00=10"°0)0000 1ps(00=10"20)0000
0000000000000000000000000000000000000
000

parameter STEP = 10;

oobooobOooboooboocoboooooooooobooobooooobooooonog
0000000000 10nsecd 100000000

ooboooboooboooboooboooboooobooboooobooobooobooooog
0000000000000 000000000000000 (reg)D000OOOO
0000000000000 000000000 (wire)OOQOOO

reg ina, inb;
wire outs;

O00adder 00 000O0DOODOOOODOOOOOODODOOOOODODODOOO
adderv 0000000000000 00DOO0ODOOOOOOODODOOOO (ODOOO
adder 1) 00000000000000O0O00O0O0O0OO0OOOOOOODOOOOOD
gobooboobooboobbobbooboobb.ooboobgooboo
0000000000000 000000000000000 adderD0O0OODO
Dald000000ma0d0bOODOO0OO mbO0OsO0O00OO0O0 outsODOOOOO

adder adder_1(.a(ina), .b(inb), .s(outs));

O000000000000 mitial OO00OO0O0ODOODOOOO0OOOODOODOOO
initial 000000000 begmOO end00000000O0OO00ODO

$dumpfile("adder.vcd");
$dumpvars(0,adder_1);

D00 D0O0O0O00000oODO0OOOVerlogOO ODODOOOODODOODOOOO
0000000000000 (0D0)000000 dumpfileO dumpvars 000000
0000000000000 (adderved) DOOO0O0OOOOOOOOOOOOOOO

gbobooboooooooboooobooon



2.5. VerilogO OOO 23

ina <= 1°b0;
inb <= 1°b0;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1°b0;
inb <= 1°bi;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1°’bi;
inb <= 1°b0;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1’bi;
inb <= 1°bi;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);
ina <= 1’b0;
inb <= 1°b0;
$finish;

ina, nb0 000000000000 QCO00O0O0DODODO0OO0 <=000000D0O
O00,1000000000#STEPO01msec0000D0ODODODOOOOOOO
gognf

ina <= 1°b0;
inb <= 1°b0;
#STEP
$display("a:%b b:%b s:%b", ina, inb, outs);

O00Oina,inb0 0O0D00O0O10nsec 00000000 Oina, inb, outs 0 00 0O
0000000000000 OVerilogOOOODOODODOODOOOOODOO

<OO00doO><O00><00>
ooo
e bO200
e hJ1600O

e 0:800
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oboboobooooooooobobooboobooooobooboobOOobOoboobn
0000020000000 1600000000000000000 1’00 1bit0O
0001b10O 1bitO0 100000000

$display("a:%b b:%b s:%b", ina, inb, outs);

display 0000000 OOinainb,outs 1000000000 O00O0OOOOdisplay
00000 COOO0 printf000000020000000000%b0O00O0O0O0O0O
0000000000000 000000D0000D0000 1msecOO0DODOO
00000000000 000 finishOODOODOOOOOOODOODOOO
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gtkwave adder.vcd
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00000000000 adder 1000000000000 ODOOODOOODOOOO
00000000 Signals 000000000 ODOOOOODOODOODOOOOODO
0000 Append 000000000 WavesOOOODOOODOOOODOOgtkwave O
00000000000 0O0WavesDOOOOODODOOODOOOODOOOOOODO
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2.5.3 ALUDOODO

0000000 ALUOOOOOOO0OOOO0lIDODO0O0DOO00DOOO0ODOO
gbooobobooboooboboooboobooboobboobooboobobo
00000 (Bus) D00 OVerilogOOOODODOOOOOOMSB:LSBOOOOOOO
O000oooopoooOoooo LsBOoOOoooooO

0001600000000 30000 ALUDODOOOOOODOOOODO

module alu (
input [15:0] a, b,
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input [2:0] com,
output [15:0] y );

O0oooooOoooUALUOOOOOOOOOoOoOoOooooooooooooo
OO000000000D0000DVerilogOOOOOOOOODOOOO

assign U0 =007 010000 2;

ooooO0oooobo1oooobooooboboooobooo 20000000000
UO00O00b0O00b00000000b0 case 0000000 OODOOODOOOOOO
oboooboooooooooboooobooobooooooboooooooooo 1-300
obooobOoboooobobooboo40000000000

assign 00O =00 17 01 :
ooooooooo2?0O2:
OO00o0o0o0oO0o00 3?03 :04;

OO0 ALUDOOOOOOOOOODOODODODOO

com oo

000 AO00DODODOODOOd

001 B

010 A AND B AND
011 A OR B OR
100 A0 1000000OO SL
101 A010000000 SR
110 A+B ADD
111 A-B SUB

OO0 VerilogOOOODOOOODODOOODOODO

assign y = com==3’b000 7 a:
com==3’b001 ? b:
com==3’b010 ? a & b:
com==3’b011 7 a | b:
com==3’b100 7?7 a<<1:
com==3’b101 7 a>>1:
com==3’b110 ? a + b: a - b ;

Verilog 0O O 21 0000000000000000 AND,OR,00D0O0COO
00000000000 0OAND,ORO0OO60000000O0O0O0O0OOOOOO
ooooooboboileoonoobOon
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‘define DATA_W 16 // bit width

‘define SEL_W 3
‘define ALU_THA
‘define ALU_THB
‘define ALU_AND

module alu (

//control width
‘SEL_W’b000
‘SEL_W’b001
‘SEL_W’b010

input [‘DATA_W-1:0] a, b,

input [‘SEL_W-

1:0] s,

output [‘DATA_W-1:0] y );

assign y = s==‘ALU_THA 7 a:
s==‘ALU_THB 7 b:
s==‘ALU_AND ? a & b: a + b ;

endmodule

oo 2

gboboaobooabooobogoogooa

define0 0 parameter 00000000000 DOOOCCOOOOOOOODOCOO
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2.5.5 ALUOOOODOODO

00 test.v0 ALUODODOOOOOOOOOOOOOOOOOOOOODODODOOO
obooboobooboobooooood

/* test bench */

‘timescale 1ns/1ps

‘define DATA_W 16 // bit width
‘define SEL_W 3 //control width
‘define ALU_THA ‘SEL_W’b000
‘define ALU_THB ‘SEL_W’b001
‘define ALU_AND ‘SEL_W’b010
‘define ALU_ADD ‘SEL_W’b110

module test;

parameter STEP = 10;
reg [‘DATA_W-1:0] ina, inb;
reg [‘SEL_W-1:0] sel;
wire [‘DATA_W-1:0] outs;

alu alu_1(.a(ina), .b(inb), .s(sel), .y(outs));
initial begin
$dumpfile("alu.vecd");
$dumpvars(0,alu_1);
ina <= ‘DATA_W’hi1111;
inb <= ‘DATA_W’h2222;
sel <= ‘ALU_THA;
#3STEP
$display("a:%h b:%h s:%h y:%h", ina, inb, sel, outs);
sel <= ‘ALU_THB;
#STEP
$display("a:%h b:%h s:%h y:%h", ina, inb, sel, outs);
sel <= ‘ALU_AND;
#STEP
$display("a:%h b:%h s:%h y:%h", ina, inb, sel, outs);
sel <= ‘ALU_ADD;
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#STEP
$display("a:%h b:%h s:%h y:%h", ina, inb, sel, outs);
$finish;
end
endmodule

OO00D0OO0O0 16bit0000000a,b0000000000comO300000O0
OO0ooO000ooOoO0OooOoUOooOoOleOOoOoocCcooboxbooOo hOoooo

a <= 16’hi1111;
b <= 16’°h2222;
com <= 3’b000

O00O0Odisplay 00 160 000%x00000%h 0000000000000
gobogobooobooobooobooo

iverilog test.v alu.v
boboobOoboooobobooooboboooooboooooboan

vvp a.out

00000000000 000 00000 bOOO0ODODOOOODDOOOODOOO

a:1111 b:2222 com:0 y:1111
a:1111 b:2222 com:1 y:2222
a:1111 b:2222 com:6 y:3333

go

AND,OR, 0000000000000 OOOOOODODOLODO

2,5.6 U0O0OO0OOOOO

02400000000000000000O000O000DOO0OOOOOOOOO
oboooooobooboooboooooboobobobooboocoooooooonono
ALUO00000000000000040d

VerilogOOOOODODOOOODOOOOODOOO

reg [15:0] acum;
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oooobOoboooooobooboobo lleO0ooooboOobooboobooooboOon
Ooooooooooooo0ooo 2400000000000O0000 aluyd O
0000000000 VerilogOOOwireJOOOOOOOOOOOD

wire [15:0] alu_y;

00000000 D0aluy O ALUDODDOOCOOOOOOOOOOOOOOOOOOO
g00o0opoDooOoooDALUODO0OODOO0OO0ODOOOODOOOODOOO

reg [‘DATA_W-1:0] accum;
wire [‘DATA_W-1:0] alu_y;

000000000 ALUOOOO0O0O0000 defined0 10000000 defhO
ooooooog

‘include ‘‘def.h’’

gboooboboooboobobooboooooboobobobooooobOoboon
cOO00O0O0OoOoOoOoOOOOnclude00O0O0O0O0OOCOOOOODOOOOOOO
()OOOUDOO0O0OOO0OO0OOdethOOOOOOODOOOOOO

‘define DATA_W 16

‘define SEL_W 3

‘define ADDR_W 8

‘define DEPTH 256

‘define ALU_THA ‘SEL_W’b000
‘define ALU_THB ‘SEL_W’b001
‘define ALU_AND ‘SEL_W’b010
‘define ALU_ADD ‘SEL_W’b110
‘define ALU_SUB ‘SEL_W’bi111
‘define ENABLE 1°bi1

‘define DISABLE 1’b0
‘define ENABLE_N 1°b0O
‘define DISABLE_N 1’bi

gobOoboooobooood

‘include "def.h"

module datapath(

input clk, input rst_n,
input [‘DATA_W-1:0] datain,
input [‘SEL_W-1:0] com,
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output [‘DATA_W-1:0] accout);

reg [‘DATA_W-1:0] accum;
wire [‘DATA_W-1:0] alu_y;

assign accout = accum;
alu alu_1(.a(accum), .b(datain), .s(com), .y(alu_y));

always @(posedge clk or negedge rst_n)
begin
if (!rst_n) accum <= ‘DATA_W’bO;
else accum <= alu_y;
end
endmodule

gboboobogbobobobooooboboboboooobobobaonoo
O00oO00O0b0000b0b0b0assign0O0OO0O

assign accout = accum;

O0000accum D O0000 dataout 00 000000000000 accum 00
Odateout 000000000 OOOO0OOO0O0O0ALUOOOOODOOOODODOOO
O0o00OO0o00000oooOo0ooooOo0oobooboooooooon

alu alu_1(.a(accum), .b(datain), .com(com), .y(alu_y));

alu00000000000alu 1000 (000D000)0000000O00O00OO
0000000000000 00000000000000OVerilogOOOOoOOonO
00000000 .(0000)0000U000U000U0D0O0D0DO0O0DDO0DUO0OOD
0000000000 00ALUO ad0O00 accumO0Ob OO0 O datain O O com
D000 comOJ0000yO auyO0OOO0O00O0OO0O0O0000000O0comO3d0O00O
00000000 000000O00Omodule alu 0 module datapathO O OO0 00O
oooooooooo

always @(posedge clk)
accum <= alu_y;

O0000000000000 accumd ALUOO aluyOOOOO0OOOODOOOO
OO00000D00O0O000O00bDOVerilogODOOOOOOOOOODOOOO
oboocoooboooobOoboooom@mooooobobooooon
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goboboooboooooobooobooboobooobooboooboooono
oboboooooobOooboooobooooooobooboobooooooooooon
3GHzO0DOOOO cpUODOOOODOOOOODOOOODDODOODOODOODOD
o00oCPUOOODODOOOOOOOOOOOOODODOO?

goood

always @(posedge clk)

O0always=0 00 0@=at 000.. 000 (posedge clk)=00000 LOOOO
OHOOOUOODOO (DD0OOOOpositiveedge) 000000000000 clk
0o00doooooo0o0ooooooooodoDoooOooooooooogog
O O negedgel negative edge 0 0 O 0

accum <= alu_y;

<=000000000O0O00bO0b00obO0obobobobobooboobooooon
oob0oobOooboobooooooooooooooooobooboooboon
O0O00beginendODOOO0DOOO0OO0DOOOOOOOOOOODOOO

257 ODO00OOOOOO0OODOODOO0

gboobooooooobooobOooobooooboooboooobooooboooooo
oob0oobOoobOoooobOooooooooobooboobooobooooboon
O000D0reg00D0OO000O0O0ODOOO

00000 00000
00000o000ooO0o0oooo
reg [15:0] dmem [0:15];

00000dmem 0 00000 1500000000000000 16000000
uobooboobo4000000000000O0

reg [15:0] dmem [0:1023];

o0o0001024=1K0O000000000 10000000000D0000 200
O0000000ooDoo00oooD40000 daddrDOO0O0O0DOOOOOO
oooobooooobooon

dmem [daddr];

2000000000000000000000000000000D0000000
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OO00D0O00D0000 awaysOOOOOOOOOODOOOODOOOODOOOO
O000000000000000000000000000 we(write enable) OO
gbodgbdgbibOdwe=100000000000DOO0OOOODOODOOOOOOOO
gboobooobooobogooaoo

always @(posedge clk)
if (we) dmem[daddr] <= ddataout;

if00 codoooooooooooooooooboooooooDooopoon
OO0O000DOoO0O0O000oooooobo0o0ooooobOogO Verilog O always
ooooooOooooooooofooooobooogooon

gbobooboobuoobooboboboboaobooboobooboboboab

/* test bench */
‘timescale 1ns/1ps
‘include "def.h"
module test;
parameter STEP = 10;
reg clk, rst_n;
reg [‘DATA_W-1:0] datain;
reg [‘SEL_W-1:0] com;
reg [‘ADDR_W-1:0] addr;
reg we;
wire [‘DATA_W-1:0] accout;
wire [‘DATA_W-1:0] dmem2;
reg [‘DATA_W-1:0] dmem [‘DEPTH-1:0];
always @(posedge clk)
begin
if (we) dmem[addr] <= accout;
end

always #(STEP/2) begin
clk <= ~clk;
end
datapath datapath_1(.clk(clk), .rst_n(rst_n), .com(com),
.datain(dmem[addr]), .accout(accout));

initial begin

$dumpfile("datapath.vcd");

$dumpvars(0,test) ;

$readmemh ("dmem.dat", dmem) ;
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clk <= ‘DISABLE;
rst_n <= ‘ENABLE_N;
{we,com,addr} <= {‘DISABLE, ‘ALU_THB, ‘ADDR_W’h00}; // LD O
#(STEP*1/4)
#STEP
rst_n <= ‘DISABLE_N;
$display("we:%b com:%h addr:%h accout:%h", we, com, addr, accout);
$display("dmem[0] :%h dmem[1]:%h dmem[2]:%h", dmem[0], dmem[1], dmem[2]);
#(STEP*1/2)
{we,com,addr} <= {‘DISABLE, ‘ALU_ADD, ‘ADDR_W’h01}; // ADD 1
#(STEP*1/2)
$display("we:%b com:%h addr:%h accout:%h", we, com, addr, accout);
$display("dmem[0] :%h dmem[1]:%h dmem[2]:%h", dmem[0], dmem[1], dmem[2]);
#(STEP*1/2)
{we,com,addr} <= {‘DISABLE, ‘ALU_ADD, ‘ADDR_W’h02}; // ADD 2
#(STEP*1/2)
$display("we:%b com:%h addr:%h accout:%h", we, com, addr, accout);
$display("dmem[0] :%h dmem[1]:%h dmem[2]:%h", dmem[0], dmem[1], dmem[2]);
#(STEP*1/2)
{we,com,addr} <= {‘ENABLE, ‘ALU_THA, ‘ADDR_W’h02}; // ST 2
#(STEP*1/2)
$display("we:%b com:%h addr:%h accout:%h", we, com, addr, accout);
$display("dmem[0] :%h dmem[1]:%h dmem[2]:%h", dmem[0], dmem[1], dmem[2]);
#(STEP*1/2)
{we,com,addr} <= {‘DISABLE, ‘ALU_THA, ‘ADDR_W’h02}; // NOP
#(STEP*1/2)
$display("we:%b com:%h addr:%h accout:%h", we, com, addr, accout);
$display("dmem[0] :%h dmem[1]:%h dmem[2]:%h", dmem[0], dmem[1], dmem[2]);
$finish;
end
endmodule

Ooo0ooDoO0O0 ckOO0O0O0O0DO LELHODOOOOOOODOOOOOO
oooobooog

always #(STEP/2) begin
clk <= “clk;
end
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OooooSTEpPODOOCOOCOOOO0O0O0DOCOOOCOOOOOOODODOOOOOO
O00000o0ooo0oooOoOo STEPOO000O0O0O0OOOOOOOOODOOOOO
OO00000OckOreg000O00O0DODOOOODOOOOO

nitial 000000000000 DOOCOOO0O0OODOOOOOOOODOD
oooooooo

$readmemh ("dmem.dat", dmem);

O00000D0O0000000 dmem D000 dmemdat 00000000000
0160000 (readmemh000)0000000000000OQO dmem.dat000O
gbooobooboooooboooooo

0002
0003
0004
0001

OO000020000000000000000readmemb 00000 dmem.dat
obooobooobooobooooooobooobooobooboobooooooboon
oboooooooon

{we,com,addr} <= {‘DISABLE, ‘ALU_THB, ‘ADDR_W’h00};

Verilog 0000000 O0ODOO0O0OOO0O0OCOOODOOOOOOOOODOOOOOO
we,comaddr 000 000000000000CCODOOOOO0O0O00O0OQO Owe=0,
com=001, addr=00000 0000000000000 COO0O0O0O0OO0OOODOCO
oo0ooo0o0ooo0oooooOoOooOoo0OooooooooOooooLD 0, ADD 1,
ADD 2, ST20000000000000000024344=90 dmem[2] 0000

OO000O0display0000000D0COO0OODODOO0O0ODOODOOOODOOO
00 0200000000000 STEP*1/400000000000000CO0O0OO
gboooooboboboboooooobobuoobobobobobobobo
boboooboooboooboooobooboobbooboooobooooobooooaoon
gbooobooboooobooboooobobooooobooboo

gooooooooon

iverilog test.v datapath.v alu.v
vvp a.out

gboboobooobooobooboobobboobboaobodanboad
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oo

ADODOOCOBO 10000D0ODODODODODOA<<1ORB<<1OOOODO 200
gbooboobobbobooboobooboobobbooboo

oo

AD00O0DOBO1000CO20000000000(A+B)OR (A-B)000
030000000000000000000000000000000000

go

O0000000O0STOOOO00000 accuom 00000000000 OOOCOO
oooobooog






